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GENERAL SCIENCE SSC-II
SECTION-A (Marks 15)
Time allowed: 20 Minutes

Section — A is compulsory. All parts of this section are to be answered on this page and handed over
to the Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Fill the relevant bubble for each part. All parts carry one mark.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

Blood plasma contains of protein.
A. 7-8% B. 2-3% C. 4-5% D. 9-10%

The number of chromosomes in a CAT is:

A. 16 pairs B. 15 pairs C. 8 pairs D. 7 pairs
A Red Blood Cell has an average life of days.
A. 110 B. 120 C. 130 D. 140

In the absence of vitamin , the vitamin A and C cannot work properly.

A. D B. E C. B1 D. B2
Night Blindness is caused due to the deficiency of in the body.
A. Vitamin D B. Vitamin E C. Vitamin C D. Vitamin A

Semi solid food should be given to the babies after the age of:

A. 3 months B. 5 months C. 4 months D. 6 months

Due to Green House effect the average temperature of earth is:

A. 10°C B. 15°C C. 20°C D. 25°C
contains 80% of the mass of atmosphere.

A. Mesosphere B. Troposphere C. Stratosphere D. Thermosphere

Land covered with forest in Pakistan is only:

A. 3% B. 7% C. 5% D. 9%

The resistance of a resistor is measured in:

A. Ohm B. Farad C. Volt D. Ampere

Symbol of a switch in a circuit is:

n O 5 —o— ¢ —l— o W



12) Ultrasounds are high frequency sound waves, above KHZ.

A. 20 B. 200 C. 2000 D. 20,000
13) Through which of the following materials can X-rays pass?
A. Bones B. Plastic C. Iron D. Lead

14) Karachi Nuclear Power Plant (KANUPP) was established in:

A. 1962 AD B. 1992 AD C. 1982 AD D. 1972 AD
15) PINSTECH started the supply of Radioactive isotopes in:

A. 1967 AD B. 1950 AD C. 1977 AD D. 1972 AD
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Federal Board SSC-I11 Examination
General Science Model Question Paper

Time allowed: 2:40 Hours Total Marks Sections B and C: 60
Note: Answer all parts from Section ‘B’ and all questions from Section ‘C’ on the E-sheet.
Write your answers on the allotted/given spaces.

SECTION - B (Marks 36)

Q2. Attempt all parts from the following. All parts carry equal marks. (12x3 = 36)

I. What are protein? How are they digested in human body? (2+1)
OR
What function does the human blood perform in the body? 3)
ii. Describe the structure of Deoxyribonucleic acid (DNA). 3)
OR
What are vaccines? Give two examples. (2+1)
ii. What is recycling? How are Plastic products recycled? (2+1)
OR
What is a capacitor? What is behavior of a capacitor in A.C and D.C circuits? (2+1)
iv. Write down the function, deficiency symptoms & sources of Vitamin A, (1+1+1)
OR
What is the use of radioisotopes in the field of agriculture? 3)
V. Name the hormones produced by pancreas. How they maintain sugar level in blood?
(2+1)
OR
Write a brief note on SUPARCO. 3)
Vi, Which basic principles of day to day hygiene can prevent us from diseases? Give any three points.
@)
OR
List some sources of agricultural water pollution. 3)
vii.  What is the importance of ozone in the atmosphere? 3)
OR
Describe the importance of electrocardiography (ECG) briefly. 3)
viii.  What is meant by mechanization? 3)
OR
Why is pituitary gland called as master gland of the body? 3
iX. Why is it safe to use electric appliances with earth wires? 3)
OR
Point out any three medical condition in which MRI is used? (1+1+1)
X. Give any three uses of RADAR. (1+1+1)
OR
What are the impacts of the nuclear technology on industrial development in Pakistan?
®3)
Xi. State Ohm’s law? Write its Mathematical expression. (2+1)
OR
Enlist three main objectives of PEAC? (1+1+1)
xii.  Write any three health benefits of regular exercise? (1+1+1)
OR

Write down any three harmful effects of Sulphur dioxide (SO2)? (1+1+1)



Q.3

Q.5

Section C

NOTE: Attempt all questions. All parts carry equal marks. (8x3=24)
Define Atmosphere? Write its chemical composition and describe the characteristics of different
layers of atmosphere. (2+2+4)
OR
What is Nervous system? Write down its types? Explain each? (2+2+4)
Write notes on coal, Chromites, iron and Gypsum. (2+2+2+2)
OR
Describe any four applications of laser in different fields of Life. (2+2+2+2)
Enlist any eight safety measures that should be followed while handling electricity? (8)
OR

What are artificial satellites? Enlist any four uses of artificial satellites? Describe the working of
hovering satellites. (2+4+2)
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